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(9) —10x+9+x2=x2—10x+9=(x—9)(x—1)
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(1) —x2+5x+6=—(x2—5x—6)=—(x—6)(x+1)
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(1) x=198DH x2+4x+4=(x+2)2=(198+2)2=2002=40000

(2) x=3. 75, y=2. 25 x2—y2=(x+y)x—vy)

=(3. 75+2. 25)(3. 75—2. 25)=6x 1. 5=9
(3) a=17, b=4 (a+b)2—2(a+b)+1=M2—2M+1

=(M—1)?=(a+b—1)2=(17+4—1)2
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=2n+1=(n+1)+n
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7 364xX366=(365—1) (365+1) =—3652—1°
4 363xX367=(365—2) (365+2) = 3656=*—2°
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(1) 212—202+192—182+172—162

=(214+20)21—20)+(19+18)(19—18)+(17+16)(17—16)
=424+437+33=112

(2) 82—102+122=82+122-10%2

=64+(124+10)(12—10)
=64+22x 2=64+44=108



